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100
HED 100
HE D 10000
HED 1000
HE D 1000
HE T 1000000

lha = 100m x 100 m = 10000 m? = 100 a
1km? = 1000 m x 1000 m
= 1000000 m2 = 10000 a = 100 ha
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720 kg

+

0.72_t
0.72t

1000 kg

1t =
720 kg
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(1)80m? =[_Jem?

(2) 1070000 cm? = |m?

(3) 450000 cm? = |m?
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1m?2 = 10000 cm?

(1) 80 m? = 800000 cm?
(2) 1070000 cm? = 107 m?
(3) 450000 cm? = 45 m?
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(1)540m?> = Jem?

(2) 20300000 cm? = |m?

(3) 4000000 m? = | |km?

it

iy

v VvV Vv v v VY
0x
i

EF 1 5400000
D 2030
e 4

~&B

(1) 1m? = 10000 cm?

(2) 10000 cm? = 1 m?

(3)1km? =1kmx 1kmo|BEZ
1000 m x 1000 m = 1000000 m?2
whabA] 4000000 m?2 = 4km?2 JU o,




@D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40m?

@ 5km?, 500000 m?

@780000 m?, 78ha

~&B

@ 6900 a = 690000 m?
@ 5km? = 5000000 m?
® 850 ha = 85000 a

@ 4a=400 m?>
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(1) 4m? + 300 cm? + 0.2a = |:|rn2
(1) 2km? + 850 ha— 500a = |ha

=h 24,03
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(1) 4m? + 0.03 m? + 20 m? = 24.03 m?
(2) 200 ha + 850 ha — 5 ha = 1045 ha
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® 4m? @ 40cm? (3)40 m?2

@ 4000 cm? ® 40000 cm?
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3 400000 cm?
@ 4000 cm?
® 40000 cm?




A27} 35m o] &9 Zo]7}F 150m ¢ AA}
ol 2ol Woli B 4 Q12| FoHA Q.

» = a
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(7t=29] dol)= (150 + 2) — 35 = 40(m)
(o] Yo])= 40 x 35 = 1400( m?)
la=100m?2 °]|E2 1400m?2 = 14 a




10. =9 dole % km? 1A F5HA 2.

>
[> HE: 0.6km?

m 5 km & 1HA HolE FAYr
700m = 0.7km, 1200m = 1.2 km,
300m = 0.3 km

(AFcHeES] Hol)

= (0.740.3) x 1.2 + 2 = 0.6( km?)
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ol gol Wol7t 40a 2l TE A TE 5 AFUN?

> = M

> = 10070

2000 x 400 + 2 = 400000 m?
= 4000a + 40a = 100(7H)
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Y 4=0] mafo] et LTl @] ol 4 AJATE B B (U7}

(=9 |ol)
= 1200 x 600 = 2 = 360000(m?) = 3600(a)
(RATE A= 3600 x 45 = 162000(kg) = 162(t)
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_230m-

~H19 0m

n
=

[ 2
> ®EH: 200m

4744 =09 o))
93200 — (230 + 350) x 280 + 2
1

—

3200 — 81200
2000( m?)
B ca9] Zo])= 12000 x 2 + 120 = 200( m)
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(AAHZYE meFe] o] yol)
= 700 X 350 = 245000( m?)
245000 m? = 2450a YU}
o] A& Y ol7} 50a <l “PO_EL L,
2450 + 50 = 49(7)) ] 2
Bol7} 50a S B2 49 7H TE 4 syt
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Abk 100 8719} v 50 37H0] SAE AGLHY 5t oleluth At
& A7) 2717} 30 kg ol 2k H) @ AREe] RAE B kg 917 Pt
AlL.

> & kg

5t = 5000 kg

Atk 100 AES] FA 30 x 100 = 3000( kg)
v 50 AFAFe] T 1 5000 — 3000 = 2000( kg)
B 1 AFzke] B 1 2000 + 50 = 40( kg)




